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. Gener structions for Candidates (Please read caref

1. The question paper has two parts. Part - A is to test the working knowledge of English
whereas Part - B is to test the general standard of intelligence and proficiency.

2. Candidates should not write their Name/Roll No..anywhere in the OMR sheet except on
the flyleaf. They should not put any kind of unnecessary mark anywhere on the OMR
sheet.

3. Use of unfair means will lead to cancellation of candidature

4. The question paper consists of 110 guestions. Only the first 100 attempted questions will
be evaluated and the rest of the attempted questions will not be considered.

5. Each question has 4 options with one correct answer. Candidates have fo mark their -
choice by filling the correct option circle on the OMR sheet.

6. Erasing, correction, overwriting on OMR sheet is not allowed. No marks will be allowed
for such questions -

7. During the examination, mobile phones should be in switched off mode. Calculators are
not allowed.
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Part-A /@S -3l
Read the following paragraph and answer question number 1 to 5.

Technology has transformed the way we communicate and access information. With the
advent of smartphones and the intemet, people can connect instantly, regardless of
distance. Social media platforms allow users to share ideas, experiences, and opinions
with a global audience. However, excessive use of technology can lead to issues like
reduced face-to-face interaction and internet addiction. Balancing the benefits and
drawbacks of technology is essential for maintaining healthy relationships and
productivity. Schools and workplaces are also integrating technology into daily activities,
making it.an indispensable part of modern life.




10.

11.

12.

A) Television
C) Books

. What has transformed communication and access to information?

B) Technology
D) Radio

What is one benefit of social media mentioned in the paragraph?

A) Increased physical activity
C) Avoiding face-to-face interaction

B) Sharing ideas and experiences
D) Reducing global connections

What is one drawback of excessive technology use?

A) Improved productivity
C) Reduced face-to-face interaction

Why is balancing technology use important?

B) To maintain relationships and productivity
D) To promote social media usage

A) To stay updated with trends
C) To avoid using smartphones

B) Increased global audience
D) Enhanced education

How are schools and workplaces adapting to technology?

A) By avoiding its use

B) By integrating it into daily activities

C) By replacing traditional methods entirely D) By limiting its usage

Identify the correct sentence:
A) She don't like apples.
C) She doesn't like apples.

B) She doesn'’t likes apples.
D) She not like apples.

Fillin the blank: "The cat on the mat yesterday."
A) sits B)sat
C) sitting D) will sit

Which sentence uses the correct form of the verb?

A) He have gone to the market.
C) He is gone to the market.

What is the synonym of "happy"?
A) Sad
C) Angry

What does "transparent” mean?
A) Opaque ‘
C) Thick

Which word is the antonym of "begin"?

A) Start
C) End

B) He has gone to the market.
D) He will gone to the market.

. Choose the correct preposition: "The book is the table."
A)in B) on
C) at D) over

B) Joyful
D) Anxious

B) Clear
D) Dark

B) Initiate
D) Begin



13.
14.
15.
16.
17.
18,
19.
20.
| 2_1.
22.
23.

24,

Which word means "a place where books are kept™?

A) Laboratory B) Library

C) Bakery D) Stationery

Choose the correct spelling:

A) Accomodate. B) Acommodate

C) Accommodate D) Accommmodate
Select the correctly spelled word: ,

A) Calender _ B) Calendar

C) Calandar D) Calandor

Identify the‘misspelled word:

A) Necessary ~ B) Convenient

C) Beleive D) Definite

Chobsé the correctly punctuated sentence:

A) "Where are you going." B) "Where are you going?"
C) "Where are you going,” D) "Where are you going!"

Which sentence is grammatically correct?

A) He don't knows the answer. B) He doesn’t knows the answer.
C) He doesn’t know the answer. D) He don’t know the answer.
Identify the sentence with correct subject-verb agreement:

A) The team are playing well. B) The team is playing well.

C) The team were playing well. D) The team has playing well.

How do you respond to "How are you?"

A) I'm fine, thank you. ; B) No, thank you.
C) Goodbye. D) I'm leaving.
Which is a formal way to begin an email? % »
A) Hi there! B) Dear Sir/Madam,
C) What's up? D) Hey!

Choose the correct closing for a formal letter:

A) Yours faithfully,l B) See you later,

C) Cheers, : D) Besties,

What does "idiom" mean? ‘
A) A literal meaning of a phrase B) A figure of speech with a non-literal meaning
C) A type of poem : D) A grammatical error

What does "once in a blue moon” mean?
A) Always L B) Rarely
C) Never D) Frequently



25. What is the plural form of "child"?

A) Childs B) Children
C) Childrens : D) Childes
26. What is the correct word to complete the sentence: "The sun rises in the
A) West B) North
C) South : ‘ D) East

27. What is a "biography"?
A) A book written by someone about their own life

B) A book written by someone about another person's life
C) A science fiction book
D) A fictional story

28. Rearrange the words: "beautiful / rose / a / flower / is™ ;
A) A beautiful flower rose is. B) Rose is a beautiful flower.
C) A flower is beautiful rose. i D) Is a rose flower beautiful.

29. Form a correct sentence: “reading / Sarah / is / a / book" ‘
A) Reading Sarah is a book. B) Is Sarah reading a book.
C) Sarah reading is a book. D) Sarah is reading a book.

30. Rearrange these words: “station / train / arrived / has / the / at"

A) The train arrived has at the station. B) At the station the train has arrived.
C) The train has arrived at the station. D) Arrived has the train station at.

Part-B/ TS -9
31. What is the sum of 345 and 6787 345 3IR 678 BT TN T 272
A) 1023 | B) 1003
C) 1043 D) 1013

32. What is 825 - 3487  825-348 T 872

A) 477 B) 497
'C) 467 D) 487
33. Multiply: 24 x 15 = ? TUT &Y 24 x 15 =2
A) 360 , . B) 340
C) 400 o D) 380
34.Divide 240 by 12. 240 B! 12 A HFT .
A) 18 | B) 20
C) 22 | D) 24

35. What is the remainder when 35 is-divided by 67 & 35 B! 6 @f faufsa far Srar % ar
NG o7 gial 872 | '

A)5 : ' B)3
C) 1 D)4



36.

37.

38.

39

40.

41

42,

43.

44,

45,

46.

47,

Solve for x; 5x+3=18. x%ﬁmi’ﬁ'ﬁ: 5x+3=18.
A)3 B)5
C)2 - D)6
Simplify: 2a+3a-4a. TRE §I0: 2a+3a-4a.
A)a . B)2a
C)Za D) 5a
If y=3, find the value of 2y+7. e y=3, A 2y+7 &1 I F1d BT
A) 10 ) B) 13
C) 12 D) 11
. Expand: (x+3)(x+2). TR B (x+3)(x+2).
A) X?+5x+6 ' - B) x*+6x+6
C) x®+5x+5 ) D) x%+6x+5
Solve form: 4m=8=0.  m % RT T HY: 4m-5=0,
A4 : | ‘ B)2
C)-2 D) 8
Add: 34 +567. WI:34 4567,
A) 8.07 B) 9.07
C) 9.11 D) 8.11
Subtract: 10.5 - 7.8. TeTd: 10.5 - 7.8,
A)2.7 B) 3.7
C)3.8 : D) 2.8
Multiply: 4.5 x 2, O DY 4.5 x 2.
A) 9.0 - : B) 8.0
C)85 | D) 9.5
Divide: 15.75 + 5, faurora &% 15,75 + 5.
A)3.15 B) 3.25
C) 3.50 D) 3.45
Convert 0.75 into a fraction.  0.75 & fi & 5edl.
A)1/2 B)3/4
C)2/3 D) 5/6
What is 25% of 2007 200 @I 25% &1 87
A) 25 \ B) 50
C)75 : D) 100
Find 12% of 500, 500 T 12% S Fifd.
A) 50 B) 60
C) 70 ‘ D) 8o



48. If 45 out of 60 students passed a test, what percentage passed? Tf¢, 60 H ¥ 45
ferermelf wes Tten & S0l g, o fbam ufa=ra Sl gu?

A) 65% B) 70%
C) 75% D) 80%

49. Convert 0.6 into a percentage. 0.6 @I Ui H 944,
A) 30% | B) 50%
C) 60% D) 80%

© 50. Increase 120 by 20%. 120 & 20% S|

A) 132 - B) 144
C) 150 D) 160

51. Simplify the ratio 15:45.  3(JUTd 15:45 B TR F4|
A) 1:2 B)1:3
C)2:3 D) 1:4

* 52.1f 5 pens cost 220, what is the cost of 8 pens? dfe 5 U @t BiFd 220 8, d 8 YT Bt
DI T 87

A) %32 B) %28

C) %25 D) %40

53. Divide 500 in the ratio 2:3. What is the smaller share? 500 @1 2:3 % JdTd H
fquriora »31 Ster e s 22
A) %100 B) €200
C) %300 D) 250

54. \é"\lhat is the ratio of 8 meters to 40 centimeters? 8 TR ¥ 40 HcHiex T ST T
?
A) 20:1 - B) 1:5
C) 2:1 D) 20:5

55. If a recipe requires ingredients in the ratio 3:4, how much of each is needed if the
total is 56 kg? Tfe fHdl IR/ & AU 3:4 & Srqura & Il &) enawgear gt 2, a
$d 56 B 81 R Ul 3! fod=l 71 B ragaddr gili?

A) 21 kg, 35 kg B) 24 kg, 32 kg
C) 30 kg, 26 kg , D) 22 kg, 34 kg

56. A car travels 60 km in 2 hours. What is its speed? U8 ®R 2 b § 60 f&e aad 2
GB!I FT 2 '
A) 20 km/h . B) 30 km/h
C) 40 km/h D) 50 km/h

57.1fa tra'in covers 240 km in 4 hours, how long will it take to cover 360 km at the same

~ speed? TG TH ¢ 4 He | 240 Tt &t gt 7 w7, df S I 71 § 360 foredt 35}

g8 0 & I a1 g S
A) 5 hours ‘ B) 6 hours
C) 7 hours D) 8 hours



58.

59.

60.

61.

62.

63.

64

65.

66.

- 67.

How long will 2 person take to walk 15 km at a speed of 5 km/h? U g 3 5
fepeitreier Bt aifa & 15 faredt Ty & e g oim ‘

A) 2 hours B) 3 hours

C) 4 hours D) 5 hours

A cyclist travels at 10 km/h. How far will they travel in 3 hours? Us HIEfbd Iras 10
feeiirereT 9t fey @ o v 2 939 # et o am e

A) 20 km B) 25 km

C) 30 km D) 35 km

A bus travels 240 km in 6 hours. What is its speed? U &9 6 52 & 240 Tt 3t I
B ¢ 1 TR R T 7

A) 30 km/h , B) 40 km/h
C) 50 kmi/h D) 60 km/h

What is the simple interest on 1000 for 2 years at 5% per annum? 31000 U= 2 CLk:
ferg 5% wfer o @t o= & WeRor sAT e B '

A) 750 : B) ¥100
C)150 -~ D)%200

Calculate the interest on 5000 for 1 year ét 8% per annum. ¥5000 TR 1 Eﬂf%ﬁm
8% T I B &R X =Tl ) 7O Y |

A) %300 B) %400
C) %500 D) 600
Find the simple interest on 21500 for 3 years at 4% per annum. %1500 R 3 IY &
ferg 4% ufer o &) 2x & wnuror sarer 3
A) 120 B) 3180
C) %200 D) 2240
. How much will 2000 amount to in 2 years at 6% simple interest? 6% JIYRUT ST U3
2 1T § 22000 e 81 wimafie ’
A) 2080 B) %2120
C) 2240 D) %2200

If ¥600 earns ¥36 as interest in 1 year, what is the rate of interest? If¢ 2600 U 1 9
¥ 236 9 fUar e, A F R RNE?

A) 5% B) 6%

C)7% D) 8%

What is 15% of ¥3007? 2300 HT 15% FAT8?

A) 35 B) 40

C) %45 D) 50

Convert 2 hours and 30 minutes into minutes. 2 ¢ 30 e &t fige & e |
"A) 120 minutes : B) 130 minutes

C) 150 minutes D) 180 minutes



68.

69.

70.

71.

The product of two numbers is 56. If one number is 7, what is the other? &1 JGET3fl
1 U 56 2| Tf U W 7 8, 1 G el 1 82

A) 6 B) 8

c)9 O D) 10

What is the square of 127 12 &1 a7 182

A) 124 ' - B)144

C) 132 D) 156 _

If 4 pencils cost €16, what is the cost of 1 pencil? T7& 4 el 1 F1Hd 216 8, @1 1

et 1 A T 87
A) %2 B) Z3
C) ¥4 : D) %5

Which i the oldest railway station in India? HRd T HEH URFAT Yeid WL I HT 27
A) Howrah Junction STaST SiaeH B) Bori Bunder §R1 §83

_ C) Victoria Terminus e <fifaa D) Chennai Central %l'_kl'sc@'{‘:ﬁ

72.

73.

In which year did the first train run in India? YRa & Tgdt 7 ford avf =elt oft?

A) 1848 - , B) 1853 ;

C)1869 = D) 1871

The first Metro service in Kolkata operated between which two stations? HIawTT H

Ugd! i a1 fa af wRe & o =edl?
A) Dum Dum - Tollygunge &H &H - lailiisl
B) Esplanade - Bhowanipore TS - NHFﬂHT

~ C) Sealdah - Salt Lake Rrareeg - Uiee d&

74.

75.

D) Dum Dum - Esplanade H &H - TS

Which year did the foundation stone for Metro Railway, Kolkata get laid? maﬁﬁ'@
T, PlADTdr B STURRIET 3! 75 di? ‘

- A) 1950 : B) 1965
C) 1972 ! .D) 1980
Which station serves as a major interchange in Metro Railway, Kolkata? ﬂ_@iﬂ%
FIaBN § THE See W HF 91872
A) Sealdah RETeieg B) Dum Dum &H &H
C) Esplanade TXAS D) Netaji Bhavan Sdrsil 4a

76.

7.

How many stations are there on Metro Railway, Kolkata's North-South Corridor? e

T3, BTl 3 STR-GIE0T HISR # v €I 87

A) 18 B) 26

c)32 D) 40

When did Metro Railway, Kolkata start its operations? ﬁajr%a%f BRI A AT
JaTt & LE P12 :

A) 1980 '- B) 1984

C) 1990 _ - D) 1995



78.

79.

80.

81.

82,

83.

84.

Which is the longest railway bridge in India? mﬁmwmgﬁaﬁam%o i
A) Vembanad Bridge / 9IS f§ ~ B) Bogibeel Bridge / §FTdIa fawr
C)Pamban Bridge / U& oot D) Godavari Bridge / Tara<) farer
Select the odd one out. Eﬁ@fmmﬁﬂﬁ
A) Gas stove T WIg B) Computer Hc
C) Washmg machlne TR 7=f= - D) Television NIIESES
Where is the headquarters of South East Central Railway? af&rmqﬁrrwia%m
TRTE BE § 2 _
A) Bilaspur fSarIgR ~ B) Secunderabad ﬁ%mara
C) Nagpur FRTGR D) Mumbai H&s
What is the primary source of revenue for Indian Railways? YRR 379 & fora Ied
&1 g Uid H1 g7 -

A) Freight services HId Jarg B) Passenger services ‘Jﬁﬁﬁﬁm

C) Non-fare revenue TR-[RTaT IR D) Real estate Td T&e

What financial benefit- does Indian Ratlways gain by leasing out itS spaces to
advertisers?

YR Yeid &mﬁeﬁaﬁﬁamﬂmeﬁaﬁq‘gm%ﬁ@rﬁqmﬁ?ﬁamusﬁ%
A) Reduced operating costs JaTa- @FTd &0 e

B) Improved safety &I | ﬁﬁm

C) Passenger convenience a3 giaem

D) Increased non-fare revenue TR-fopwran o o 'q'@

What is the function of the AIMS portal in: Indian Railways? mWﬁAIMS tﬁ?f?f ‘

PRI HE 87

A) Freight tracking BT ¢fd
B) Employee payroll and accounts T:Iﬂ:f‘iﬂﬁ a7 SR @1

C) Passenger ticket booking A fdehe gfe
D) Asset management SO UaeH

On which platform are the files exchanged on Metro Railway, Kolkata’? ﬁ'&i’éﬁ

PITHI 7 Bl 1 TG-S 5 Teh i W e 872
A) IRPSM B) UDM

C)AIMS : D) eOffice

85.

Which type of tlcketmg system was recently implemented in Metro Rallway'? g el |

- eI e ¥ 5y ueR i few i gurre arg &t 187

86.

A) Smart Card ®IIE B8~ B) Face recognition based asvrqsim 3eia
C) Token T D) QR Based QR TR

What is the full form cf IRCTC in Indian Railways? WWJE{ IRCTC ﬁ‘{lﬁ?ﬂl
87

" A) Indian Railways Catering and Tourism Corporation

B) Indian Railways Cargo Transport Corporation
C) Indian Railway Construction and Transport Corporatmn
D) Indian Rallways Customer Ticket Corporation



87.

88.

89.

90.

91.

92.

93.

94.

What is the full form of CRIS in Indian Railways? HRdld ¥@d & CRIS BT QUi &Y &
87 '

A) Central Railways Information Services

B) Centre for Railway Information Systems

C) Centralized Railway Information Software

D) Comprehensive Rail Information System

What is the full form of IRPSM in Indian Railways? wﬁamﬁ IRPSM W‘{Uf"ﬁq
) i

A) Indian Railway Prolects Sanctions and Management

B) Indian Railway Parcel System Management

C) Indian Railway Point and Signalling Management

D) Indian Railway Personnel Sanction and Management

%\lhat is the full form of UDM in Indian Railways? HRdTI Y & UDM T Ul = &1
; :

A) Unique Display Mode : B) Ultrasound Detection Mvethod
C) User Depot Module - D) Universal Depot Module
What is the full form of UPS? UPS &7 quf &0 a7 27

A) Unique Pension System B) Unified Payroll System

C) Unified Pension Scheme D) Unified 'Pension System

What is the main function of a computers CPU? W & CPU &1 & EBR?E&T 27
A) Store data S€TH! fed ST

B) Process instructions &1 &1 WY &A1

C) Display images B30} &1 UeRid &<

D) Connect to the internét Ee3-c I Cb:lcrc BHIAT

What does "HTTP" stand for in web addresses? 39 Udl § "HTTP" &1 &1 3ff 82
A) HyperText Transfer Protocol ET§URCHT ARSI PGl

B) HighText Transfer Program EI3caRe TR UIUTH

C) Hyperlink Text Tool Protocol EEHT‘%’IEE CRT cd PIECAR]

D) Home Text Transfer Protocol 19 éﬂ%&” [Rs Eﬁ?ﬂiﬂa

Which of these is a common file extension for a document? quf q ﬁ:ﬁfﬂ@
S % feru wr= WIEe TIERA §2

A) .exe B) .doc

C) .mp3 - , D) .jpg

What does RAM stand for in computer terminology? &R &1 Wsalaci! §f RAM &T
1 3 g7

A) Random Access Memory prees) TR AR

B) Read Access Memory ﬂgmﬁrﬁf[

)
- C) Random Action Memory %nm:rﬁlﬂfr
)

D) Read And Manage 38 Us Aad

10



95. Which device is used to mput text into a computer? & f¥aE &1 Iud Fugez 3
R T T & R ey :
A) Printer fifex _ B) Monitor HifNex
C) Keyboard BaIE D) Speaker TiHR

96. What is the name of the software used to browse the internet? e3¢ FI3W &7 &
fere Sawe S o AR S Am A 22
A) Browser HT3GR . B) Spreadsheet Wagfe
C) Database ey D) Presentation TRgfdl

97. %\lhat is the main purpose of an operating system? TR ey &1 e E:E'{Qq 1
2
A) Perform calculations TOMTT &1
B) Manage hardware and software ﬁlﬁ'ﬁﬁ 3R TTedTR BT WWW
C) Store data QETFIQIEE! HIHAT
D) Create documents G¥dTdw ST

98. Which of the following is consndered an input device? FafaRag A & ﬁﬂ

fSaey wFr S 22
A) Printer fliex : B) Scanner TR
C) Monitor HilHex : D) Speaker &g

99. What is the most common use of spreadsheet software’> TSefie Auedty &1 Jad
THR UL /T 272 -
A) Sending emails $9d 9T B) Stormg pictures TEIR JURd BT
C) Calculating data ST &} TUMT ST D) Playing music S¥iid ST

100. What is the main purpose of antivirus software? UaRRY IieaTR &1 HE1 G%SRTI
182
A) Protect against malware aﬂ’aﬁTﬁﬁT&ﬂ BT
B) Create documents GdTadl §=IHT
C) Browse the internet EEQEIE_EIIGGI. DAl
D) Organize files WTEd! T FGEH BT

101, In which year was the Official Language Act enacted? foog af & XTSTHTET G@'ﬁﬁﬁ
Sifeyafia far mar ar? .
A) 1963 ; B) 1950
C) 1947 D) 1976

102.  Under the Official Language Rules, how many regions is India divided into for
language use in government communication? ISTHINT AT & T84, YRT & TRET

TR H 4 IUAI & fore fapam & & sjer mar 87
A)2 B) 4
C)5 D)3

1




103.  Which states fall under Region 'A' as per the Official Language Rules? ISTHET
ol & SR 89 T W S I Iy aﬂﬁ%?
A) Punjab, Haryana, Rajasthan U, gfeamom, I
B) Bihar, UP, Uttarakhand fegR, Ui, 3tRI@s

C) Maharashtra, Gujarat ‘H?R’l%a‘,!ﬁﬂ d
D) Karnataka, Kerala FlCD,
104.  As per the Official Language Rules, which language should be used in Region 'C'

for official communication? ITHTST o} & TR, &7 T H 3nfieie TR & fiu
o LT 1 UG g R

A) Hindi fgdl - B)English 3fJsi
C) Regional Language &30 HTST D) Both Aand C THTA SR C

105. Who is responsible for the implementation of the Official Language Act? ISTHTET
ffRam & wrafaa & e S er 22 : '

A) Prime Minister TYHST  B) Department of Official Language ITSIHIST faHRT
C) Parliament Tdq D) State Government ol INHN

106.  When was the Official Language Rules, 1976, implemented? ISTYTST 99, 1976
%9 ar] fHT Ty A7 s

A) 1978 B) 1977
C) 1979 ‘ D) 1976

107.  In Region 'A', which language is primarily used for noting and drafting in official

documents? &3 & H, MAHTNG Gxamdel & AT 3R St & R ge1 9 3 frg
UTST T JUGNT foha wirar 22 ‘ Byt
A) English 3iTsit B) Hindi &<t

C) Any regional language Dig 1t & v D)Sanskrit FIW

108. As per the Act, in Region 'A', in which language must replies to Hindi letters
be made? IMTH & AR, & & # <t U= & Same g v & fgw oy
ELE |
A) Hindi f&<t B) English 3T
C) Any language @5 Ht TS D) Regional language &3RT HTT

109.  What is the minimum educational qualification with Hindi for working knowledge
of Hindi? &<t & wrdanee 1 & forg g« # <gaw Qs g w1 2
A) Primary school WTAfHe® Tpa ‘ B) Matriculation BfegeieH
C) Graduate HIdd ' D) Postgraduate URTHETd®

110.  Which year was the 1963 Official Language Act amended? 1963 T JSIHIY]
Siferfraw fooa v S fama mmar um? |

A) 1967 - B) 1971
C) 1985 : D) 1999

End/HHTG
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